ADDING AND SUBTRACTING UP TO MILLION WITHOUT CARRYING (HN—aﬁ];élf 2)

TEST 3

Time: Score:

0 888832 — 731312 =

2 471392 + 328506 =

9634041 4 1335 =

9 398312 + 630003 =

5 376380 + 401103 =

6 385289 — 51166 =

N 639287 — 24246 =

5994600 + 4248 =

9 873982 — 510551 =

100930777 — 210151 =

1) 6787383 — 4447142 =

12) 2702898 — 202121 =

13) 469430 + 410542 =

1) 828497 — 16285 =

15 420056 4 9932 =

Mathematics: Mixed - Level 7 - Horizontal - Set 2
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954834 — 531004 =

223050 + 455140 =

523672 — 522530 =

736838 — 533122 =

458136 + 210050 =

432923 — 430321 =

689915 — 103302 =

3839950 — 2422340 =

4228020 + 621164 =

483290 + 511603 =

846089 — 432086 =

786703 + 201256 =

238600 + 730368 =

330036 + 531722 =

309447 — 307240 =
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